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Name: __________________________________



1
As shown in the diagram below, [image: image1.png]oD



 is a median of [image: image2.png]MABC



.
[image: image3.png]



Which statement is always true?

	1)
	[image: image4.png]




	2)
	[image: image5.png]




	3)
	[image: image6.png]ZACD

DB





	4)
	[image: image7.png]ZBCD

ACD







2
Scalene triangle JKL is drawn below.

[image: image8.png]



If median [image: image9.png]


 is drawn to side [image: image10.png]3



, which statement is always true?

	1)
	[image: image11.png]




	2)
	[image: image12.png]&7

1

ars





	3)
	[image: image13.png]I KT





	4)
	[image: image14.png]






3
Given [image: image15.png]MABC



 with base [image: image16.png]AFEDC



, median [image: image17.png]BF



, altitude [image: image18.png]BD



, and [image: image19.png]BE



 bisects [image: image20.png]ZABC



, which conclusion is valid?
[image: image21.png]



	1)
	[image: image22.png]L FAR = ZABF





	2)
	[image: image23.png]LABFR = ZCBD





	3)
	[image: image24.png]




	4)
	[image: image25.png]






4
Given: [image: image26.png]MABD



, [image: image27.png]BC



 is the perpendicular bisector of [image: image28.png]AD




[image: image29.png]



Which statement can not always be proven?

	1)
	[image: image30.png]




	2)
	[image: image31.png]




	3)
	[image: image32.png]ZACB = £ DCE





	4)
	[image: image33.png]AABC = ADBC







5
In triangle MAH below, [image: image34.png]MT



 is the perpendicular bisector of [image: image35.png]AH



.

[image: image36.png]



Which statement is not always true?

	1)
	[image: image37.png]MAMAH



 is isosceles.

	2)
	[image: image38.png]MAMAT



 is isosceles.

	3)
	[image: image39.png]MT



 bisects [image: image40.png]L AN



.

	4)
	[image: image41.png]24



 and [image: image42.png]L TMH



 are complementary.



6
In [image: image43.png]MABC



, D is a point on [image: image44.png]AC



 such that [image: image45.png]BD



 is a median.  Which statement must be true?

	1)
	[image: image46.png]AABD = ACBD





	2)
	[image: image47.png]ZABD

OBD





	3)
	[image: image48.png]




	4)
	[image: image49.png]BD 1 AC







7
Segment AB is the perpendicular bisector of [image: image50.png]oD



 at point M.  Which statement is always true?

	1)
	[image: image51.png]




	2)
	[image: image52.png]




	3)
	[image: image53.png]MNACD ~ ABCD





	4)
	[image: image54.png]MNACK ~ ABCWM







8
In [image: image55.png]MABC



, [image: image56.png]BD



 is the perpendicular bisector of [image: image57.png]ADC



.  Based upon this information, which statements below can be proven?

I.
[image: image58.png]BD



 is a median.

II.
[image: image59.png]BD



 bisects [image: image60.png]ZABC



.

III.
[image: image61.png]MABC



 is isosceles.

	1)
	I and II, only

	2)
	I and III, only

	3)
	II and III, only

	4)
	I, II, and III



9
In isosceles [image: image62.png]


, line segment NO bisects vertex [image: image63.png]


, as shown below.  If [image: image64.png]MP =16



, find the length of [image: image65.png]MG



 and explain your answer.



[image: image66.png]




1
ANS:
1
REF:
011303ge

2
ANS:
2
REF:
012509geo

3
ANS:
4

Median [image: image67.png]BF



 bisects [image: image68.png]AC



 so that [image: image69.png]


.
REF:
fall0810ge

4
ANS:
2
REF:
081301ge

5
ANS:
2
REF:
012012geo

6
ANS:
3
REF:
080608b

7
ANS:
1
REF:
012316geo

8
ANS:
4
REF:
081822geo

9
ANS:


[image: image70.png]


 is congruent to [image: image71.png]APNO



 by SAS.  Since [image: image72.png]


, then [image: image73.png]MO = PO



 by CPCTC. So [image: image74.png]NO



 must divide [image: image75.png]WP



 in half, and [image: image76.png]MO



.
REF:
fall1405geo


